QL. HED:HEDE 1s
A Anoxidising agent
B A reducing agent
€ Both oxidising and reducing agent

D NMeither oxidising nor reducing agent

()2. Dead burnt plaster is

A CaSO Cas04

B CaSO, - +H,0Ca804-12H20

4

C  CaS0 , - H,0Ca804-H20

4

D CaSO, - 2H,0CaS04-2H20

Q3. Identify the following compound which exhibits geometrical 1somernsm :

A But-2-ene
B But-l-ene
C  Butone

D lsobutone



(4. During the fusion of organic compound with sodium metal, nitrogen present in

the organic compound is converted into

A NaNO ,NaNO2
B NaNH ,NaNH2
€ NaCN NaCN

D NaNC NaNC

Q3. The reagent X' used for the following reaction is
, X
=E=CR A+ H2 — R-C=CR'+tH2-X

R\ ,KR'
C=C :
AN

A NiNi
B Pd/C paC
€ LiAlH, LiAlH4

D Na/Liquid NH, NaLiquid NH3

Q6. Which of the following 1ons will cause hardness in water 7

-

A Ca ™ Cu+

B Na Nat+



Cc Cl c-

D KK+

Q7. Which of the following oxides shows electrical properties like metals 7
A Si0,Sion
B MgOMgO
€ SO,(s)302)
D CrO,Co2

8. Which of the following agueous solutions should have the highest boiling point

T
A 1 -0 MNaOH 1.0 M NaOH
B 1-0 MNa,SO,1-0M Na2S04

C 10 MNH,NO, 1.0 M NH4NO3

D 1-0MKNO,I-0MENC3

Q9. The charge required for the reduction of | mole of MnO ; MnO4- to
MnO , MnO2 is

A IF



Q10. For the reaction,

280, +0, = 280,, 2502+02———=2S03,

the rate of disappearance of 0,02 is

2% 107 molL™! s7! 2x10-4 mol L-151. The rate of appearance of
503503 is

A 2x10%moll 's ! 2«10-4moll—1s-1
B 4x107molL 's™' 4x10-4moll-1s-1
C 1=10%molL's™" 1%10-4moll—1s-1

D 6x10 molL 's™ 6x10-4moll-1s-1

Q 11, Which of the following electrolytes will have maximum coagulating value for

Agl/Ag”™ Agl/Agt sol ?
A Na,SNazs

B Na,PO Ns3PO4

C Na,SO,Na2S04

D NaClwaCl



Q12. Electrolytic refining is used to purify which of the following metals ?

A Cuand Zn
B Geand 51
C ZrandTi

D Znand He

Q13. Dry ice1s

A Solid COCO

B Solid SO,502

€ Solid CO,CO2

D Solid 0,02

Q14. Which of the following is an amphoteric oxi de ?

A V,0,,Cr,0, V20501203

B Mn,0,,Cr,0,Mn207.C203

C Cr0,V,0, Cro.V205

D V,0..V,0,V205VI04



Q15. The IUPAC name of [CD[N-H} }4(:1[”0 ) ]] Cl [Co(NH3MCI(ND2)]Clis
A tetrmamminechloridonitritp-Neobalt(111) chlonde
B tetrsamminechlondonitrocobali{IT} chloride
C  tetraomminechlondontrocobalt{l) chloride

I tetmamminechlondodinitrocobalt 1) chlonde

Q16. Which of the following statements 15 true in case of alkyl halides 7
A They are polar in nature
B They can form hydrogen bonds
€ They are highly soluble in water

D They undergo addition reactions

Q17. Phenol can be distinguished from ethanol by the reagent

A Bromine waler
B Sodium metal
C  Iron metnl

[ Chlorme water

Q18. Which of the following compounds undergoes haloform reaction 7



A CH,COCH ,CH3COCHS
B HCHO HCHO
C CH,CH,BrCH3CH2Br

D CH,-O-CH, CH3-0-CH3
0Q19. Which of the following will be the most stable diazomum salt
(RN, X7 ) (RN2+X) ?

A CHy N; X CHIN2+X-

B C,H,N;X CoHS N2+X-

C CH, CH, N3 X CH3 CH2 N2+X~

D C,H,CH, N X C6H5 CHZN2+X-

(20. Which of the following bases 1s not present in DNA 7

A Ademine
B Guanine
C  Cytosine

D Urmnecil

0Q21. Which one of the following is a polvamide polvmer ?



A Terylene

B Nylon-6,6
C BunaS§
D Bakelite

(22 In F.C.C. the unit cell is shared equally by how many unit cells 7

A 10
B &
C 6
D 2

Q23. At a particular temperature, the ratio of molar conductance to specific

conductance of 0.01 M NaCl solution 1s

A 10°em*mol ! 105cm3mal-1

B 10°cm®mol " 103cm3mol-!

¢ 10em*mol ' 10em3mol-1

D 10Pem’mol ™! 105cm2mol-1

)24, Isotonic solutions are solutions having the same



A Burface tension

B Vapour pressure

C  Osmotic pressure

D Viscosity

(25, The temperature coefficient of a reaction is 2. When the temperature is
increased from 30° C 30Cto 907 C 90eC, the rate of reaction is mcreased by

A 150 imes
B 410 times
C 72 times
D 64 times

()26. Gold sol is not a

A Lyophobic sol

B Negatively charged sol

C  Macromolecular sol

D Multmolecular collmd

()27. The common impurity present in bauxite is



A CuDCu0
B ZnOZnO
C Fe,0,Fe203

D Cr,0,Cr203

(28, Very pure N 2 N2 can be obtained by

A Thermal decomposition of nmmonium dichromate
B Treating agueous solution of NH , CINHAC] and NaNO , NaNO2
€ Liguifaction and fractional distillation of liquid air

D Thermal decomposition of sedium azide

029 Which of the following oxidation states is common for all lanthanides ?

A +2
B +3
C +4
D +5

Q30. The electronic configuration of transition element “X", 15 +3, oxidation state is
[Ar],d 3[Ar]3dS. What is its atomic number ?



Q3 1. n-Propyl chloride reacts with sodium metal in dry ether to give

A CH,-CH,-CH,-CH,-CH,-CH, CH3-CH2-CH2-CH2-CH2-CH3

B CH,-CH,-CH, CH3-CH2-CH3

€ CH,-CH,-CH,—CH, CH3-CH2-CH2-CH3

D CH,~CH,-CH,-CH,-CH,~-CH,—CH, CH3-CH2-CH2-CH2-CH2-CH2-CH3
(32. When the vapours of tertiary butyl alcohol are passed through heated copper at
573 K, the product formed is

A  But-2-ene

B 2-Butanone

€ 2-Methyl propene

[ Butunal



()33. What is the increasing order of acidic strength among the following 7
(1) p-methoxy phenol
(1) p-methyl phenol
(1ii) p-nitro phenol
A di=iii=i
B idi<u=<i
C i<ip<ii

D i<iii<ii

34, Which of the following is more basic than aniline ?

A Diphenylaming

B Triphenviamine

C  p-nitroaniline

D Benzylamine

(Q35. The two forms of D-Glucopyranose are called

A Disstereomers

C  Epimers



D  Enantiomers

Q36. Among the following, the branched chain polvmer is

A Polyvinyl chloride

B Bakelite

C  Low density polythene

D High densaty polythene

(337. Edge length of a cube i1s 300 pm. Its body diagonal would be

A 600 pm
B 423 pm
C 5196 pm

D 4505 pm

(38. Which of the following is not a conductor of electricity 7

A Solid NaCl

B Cu

€ Fused NaCl



[} Brmne solution

(39. For a cell reaction involving two electron changes,

E =0 -3 V Ecelle=0-3 V at 25° C 25¢C. The equilibnium constant of the
reaction is
A 10771010

B 3=107 3=10-2
c 10

D 10010

(40. The value of rate constant of a pseudo first order reaction

A Depends only on temperature
B Depends on the concentration of reactants present in small amounts
€ Depends on the concentration of reactants present in excess

D Is independent of the concentration of reactants

Q41. (CH ) ; SiCl(CH3)38iCl is used dining polymerization of organosilicons

because



The chain length of organosilicon polymers can be controlled by adding (CH , ), SICI{CH3)35iCI
B (CH,);S1Cl{CH3)3SiCl improves the quality and yield of the polymer
€ (CH,),S1Cl{CH3)38iC! does not block the end terminal of silicone polymer

D (CH,), SICHCH3)3SiC acts as a catalyst during polymenisation

Q42. When PbO ,PbO2 reacts with concentrated HNO ;HNO3, the gas evolved is

A NO,NO2
B 0,02
C N,N2

D N,ON20

Q43. KMnO ; KMnO4 acts as an oxidising agent in alkaline medium. When
alkaline KMnO ; KMnO4 is treated with K1. iodide ion is oxidised to

A LI
B 10 10-

c 105103

D 10104



Q44. [Fe(NO,) ; C1,][Fe(NO2)3CI3] and
[Fe(O-NO) 3 Cl 3][FE{'D—ND}3 Cl3]shows

A Linkage isomerism
B Geemetncal isomensm
€ Optical isomerism

D Hydrmate isomerism

Q45. Tertiary alkyl halide is practically inert to substitution by SN, SN2 mechanism
because of

-

Insolubility
B Instability
C  Inductive effect

D Steric hindrance

(46. The products X and Z in the following reaction sequence are



AlClalether 5

OH

/130°C H*/H,0
0 >» Y —— +2Z
Heat
A lsopropylbenzene and acetone

B Cumene peroxide and acetone
C  Isopropylbenzene and isopropyl aleohol

[ Phenol and ocetone

(047. The appropriate reagent for the following transformation is

e

Zn-Hg/HC! Zn-Hg'HC|
B H,N—NH,,KOH/ethylene glycol H2N—NH2 KOH/ethylene glycol
C Ni/H, NiH2

D NaBH NaBH4

48, In the following reaction ..... the compound Z 1s



CH,
Cr0,Cly

5
CS,

A Behzoic acid
B Benzaldehyde
C  Acetophenone

[ Benzens

049, The reaction of Benzenediazonium chloride with aniline yields vellow dye.

The name of the vellow dve is

A p-Hydroxyarobenzens

B p-Aminoarobenzene

C  p-Nitroazobenzene

D o-Nitroazobenzene
50. The glycosidic linkage involved n linking the glucose units in amylose part of
starch is

A C,—C, p-linkage €1-C4 p-linkage

B C,—C, a-linkage C1-C6a-linkage



C C,~C, p-linkage C1-C6 p-linkage

D C,—C, a-linkage C1-C40-linkage

Q51. Ziegler-Natta catalyst is used to prepare
A Low-density polythens
B Teflon

€ High density polythene

D Nylon-6

Q52. 1.0 g1.0 g of Mg is burnt with 0.28 g of 0202 in a closed vessel. Which

reactant 1s left in excess and how much 7

C 0,024 02024y

D 0:24g0124g

()53. The orbital nearest to the nucleus is

A 4F



p



¥l 2

1. The image of the point (16.3) nthe &= = —=— = == xl=y-12=2-23 s
g po T ] 3 35 J

(Lo

(TaL)

(2740

{-1-6.-3)

QL The angle between the lines 2% = 3y = —z Xx=dy=—mnd 6x = —y =—dz fx=—y—Azis

A Dl
B 4545
S L
D 303
Q3. The value of k such that the line 27 = £= = 2y _41=y-1=7-k2 lies on the place

-y +tz=T Indyte=Tis

A

i

(4. The locus represented by Xy + ¥z =) xy+yr=01s

A

C

# pair of perpendicalar lines

o par of parallel Ines

1 pair of parnllel plancs



D a par of perpendicular planes

(5. The feasible region of an LPP 5 shown in the fgure . If 2 = 3x + 9y, #=3x+9, then the minimum

value of z occurs at

A 153)

B (010)
C b2m
D (1515)

Q. For the LPP; maximise = X + 4y r=x+dy subject to the constraints
x+Ay <2 x+2y 2B,y 20 xidyRatyelayed

A Zoae =4 mmand
B Zpyy = 8 zmax-f
C  Zpe = 16 rmux=146

D Has mo feasble solution

Q7. For the probability distribution given by
X =% X=xi ] [ .

. 25 5 I
PiPi =233 518 =136

the standard deviation (&) (a] s



D %omne of the above

(8. A bag contains | 7 tickets numbered from | b0 17, A ticket s draw ot random, then another ticket is
drawn ot rundom, then another ticket is drawn without replacing the first one . The probability that both the

tickets may show even numbers is
A &TH
B oil]
€ =76
D =77

Q9% A flashlight has 10 batteries out of which 4 are dead. If 3 batteries are selected without replacernent and
tested, then the probability that all 3 are dead 1s

A 130
B 1M

¢ Lus
D L

Quo.1fix+ 5/ = 10 |x+5=10 then
A x E(-155] xe-155]
B xE(-5.5] xe-53]

C xEl—=-I5Ju3 =) =el-=-15)U[5.2)



D xE[-=-15u[f=] == -150[5=)

(11, Everybody in a room shakes hands with everybody else. The otal number of handshakes is 45, The

tivtnl number of persons in the room 15

A 9

()12, The constant term in the expansion of (x° — =)  (x2-1x2)léis

A "MCyue0e
B 5C;iscT
c '""Cylece
o "Cypacio

QI3 IFP(n) ;" 2" — | P{n):"22n-1 is divisible by k forallm € N " neN" is true. then the vatue of 'k’

15

()14, The equation of the line parallel o the line 3x — 4y +2 =10 3x—4y+2=0 and passing through
(—2,3) (-29)is



A Ix-—dv+18=10 3m-ay+18-0

Ix—-dy—18=0 3x-4y-18-0

]

Ix+dy+ 1B=10 3xtdytis-0

=]

I+dy - 1B=0 3x+dy-18-

iy
QIS.If(==) =a+ib (1-il+i)9%6=a+ib then (o) is
A LB
B (LM

C ol

D (0-1)

(6. The distance between the foci of a hyperbala is 16 and its eccentricity is VIl equation is

A xP—y1=32 x242-32

Y
i et | x24—y20=1

€ ?-3y' =T -3y

D y'—x'=32 yrx2=32

(N7, The number of ways in which 5 girls ond 3 boys can be seated in a row so the no two boys are together

15
A 14040
B 14440
C 14000



Q8. If a, b, ¢ are three consecutive terms of an AP and x, y, z are three consecutive terms of a GP, then the
valieof x7¢  y** 7% P xb o ye-aza-bis

A D

A

D Does nisl exist

Q0. Letfix)=x—+ fixj=x-Ixthen (1) F(-1)is

A 0

(321, The negation of the statement "72 is divisible by 2 and 3" is
A 72isnot divisible by 2 or 72 is not divisible by 3
B 72 15 i divisthle by 2 or 72 is divissble by 3

C 72 = oot divisable by 2 and 72 15 dovistble by 3



D

QR

72 15 mot drvistble by 2 and 3

The probability of happening of an event A is 0.5 and the of Bis 0.3 1f A and B are mutually

exclusive events, then the probability of neither A nor B is

A

Q23

04

05

04

In & simultaneous throw of a pair of dice, the probability of getting a total more than 7 13

(324, If A and B are mutually exclusive events , given that P(A) = %, P{B)= l-: A5 P(BI=IS,
then P(A or B) is

0.5

LK

04

o2

Q5. Letf, g : B — R fgR—R be two fiunctions defined as f(x) = x| + & fixj={xi+x and
gx) =[xl —x¥x € R gix)=x-xvxeR Then (fog) (x) (fog) (x) for x < 0 x<0is



(26 A 1s a-set having 6 distinct elements. The number of distinct functions from A 1o A which are not

bijections is
A Bl-64-6
B 6% —fHeoo
c 6°—6lasol

D Ol

Q27.Letf: R — R f:R—R be defined by

Ix . A=

Then f{—1) + f(2) + f{4)  A-1+2+fid) is

2x ;. x>3
x2 1 l<x <3 IIxxeIxlex <3xme]

A @

¥

Q8. 1fsin ' x+cos! y==T sin-Ixtcos-1y=2a5 ,thencos ' x +sin ' y cos-Ix+sin-ly is



¢ s

D o

4, valuz of the expression lan{ =cos £ tanif 1 2eos—125) 1=
20, The valug of the expressj {:l, 2 TE} 1205125

Q. IEA = 1_} _f ] A=[2-2-22]then A" = 2*A, An=2kA, wherek =

A Il

Q3L If] li :][x]= [i] [LI-11][xy]=[24] then the values of x and y respectively are
= ¥
R
B 13
C il
D -13
gRLA=[ B¢ SOy s icosasina-sinacosa] , hen AA = AA=

—sing cosa



033, Ifx, v,z € B, x,y.zeR, then the value of determinant

={51+5-=;3 (5*-5%)* 1l

I{6* +67%) : (6" —6*) S| I S5 )2 Sx—5Fx)2 | (6x+6-x) 2 6x—6-x)2 1 Tx+T—x 12 Tx—T-x 21| is
| 2 =

[t Sl U e Tl

A D
B iz
, T |
oo

a-b b+ec a
Ih - ¢fa b ||a—hb+:'ab—:|:-'-nbc—m+bcf is
lc—a ath ¢

(334, The value of determinant

A at P 4! e
B 3abciabe
¢ a'+b+cd—3abe a3:b3cl-dabe

D &'+t +cd+3abe a3+h3+c343abe

Q35 16 (x ), vy ) (%2, ¥2) (xLvD)ix2y2) and (X3, ¥3)(x3.53) are the vertices of a trinngle whose area is
X1 ¥ 4

k" square units, then |32 Y2 4| ey lda2yM3y342 s
|K3 ¥3 41



A 32K 30
B 1647 16k
C o4k il

D 48K 4812

(36, Let A be a square matrix of order 3 = 3 33, then [5A| = 5A=

A SIA| s
B 1254 125)a)
C  25|A|2s1a
D [5A] 15l
Q3T
T -+ T T O ey . _
fix)={ % =1 1k |-k — bex<02x+ Ix—1if Dex<|

. fo=x=1

is contimuous at x =0, then the value of k is

A k=1

Q38. [feos y=x cos(a+v) cosy=x cos{oty) withcos 8 #2] cosaztl, then %d}d{ is aqual 1o

| ] i &
A mm ncosZia+y)

Ewtit

:!I' cos2{m+ yisn a

C T2 cos asind{asy)

sinin i |



o ity

D s (52 (¥ 08 8

= r vt v "I K e i
(Q39.1ff(x) = |cos x —sin[x  fix)=jcos x—sinlx, then f () Fia6) is equal to
A {149 3) —1zi143)
Bow(l+V3) 120143
€ —4(1-3) 12413

D $(1-V3) 12013

Q0. 1y =V x+V Xt Vxt...0 , y=xéxtxim, they % = dydx=

A F,+||~_|ez—|

B -,}érjzw

© Ff-szy_uz—l

i} El_TIEy—I

log, x

QL= =T ' s =l ={logexx—lAzlkix = is continuous at x = 1, then the value of k is
A

B 1

c -l

R}

(42, Approximate chonge in the volume V of o cube of side x metres caused by increasmg the side by 3% 1=

A 009 x ml o3 md



B 0.03x" m o0 xomd
¢ 006 x" m o063 m3

D 0.0dx" miomx3ma

(043, The maximum vatue of (<) (1x)x is

A ee
B e

lie

C & ele

D (1) " (1epe

Q44 f(x) =x* fix)=xx has stationary point at
A XTexr
B !l;=-l-:-lc

c x=1x

(45, The maximum ares of a rectangle inscribed in the circle
(x+ 1P +{y=3F =64 (x+1)124{y-3)2=64 is

A 64 5 units
B 72 s umis
C 128 sq unis

D 8 sqg unils

Q46 [ —dx 11 +exdx is equal to



2=

i

=]

log () + e logstexs lenpc

log (= 1)+ ¢ lopelex-lexpe

log{—==)+ € loge(exex+1je

]ﬂgcffr'l +¢ lopelenen=1kc

47, e . [13-6%-0x2dx i equanl to

A

C

I H]

v I—fix-Gy 2

L T o P

sin'{
sin (L)t sine3nelope

Lin ' (Z e 1313120

sin ! (S=k) o sl

Q48. | grox (mmxtl Jdx  Jesinx(sinx+Isecn)dx is equal 1o

(49,

Tacex
SN % e"" * + ¢ sinxcsn v
COS X. " * +¢ cosxcamzte
@ % 4 Coxin x5¢

e X jgin x+ 1)+ ¢ esinoxisin =] pc

2
IE |x cos mx|dx [-22ix cos mxidx is equal to

Ly
-8

¥

s
53
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